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PART - I
MATHEMATICS

1. If sum of n terms of an A.P. is 3n2 + 5n and
Tm = 164, then:
(a) m = 26 (b) m = 27
(c) m = 28 (d) none of these

2. The number of terms of the series 54, 51, 48 .....
so that their sum is 513:
(a) 18, 19 (b) 16, 22
(c) 25, 36 (d) none of these

3. An army contingent of 616 members is to march
behind an army bond of 32 members in a parade.
The two groups are to march in the same number
of columns. The maximum number of columns in
which they can march is:
(a) 16 (b) 12
(c) 8 (d) 4

4. If    ,  are the zeroes of Quadratic Polynomial
x2 – 4x – 12, then the value of 33   is:
(a) 480 (b) –480
(c) 202 (d) 408

5. If the sum of the roots of ax2 + bx + c = 0 is equal
to the sum of the squares of their reciprocals,
then which one of the following relations is
correct?
(a) ab2 + bc2 = 2a2c (b) ac2 + bc2 = 2b2a
(c) ab2 + bc2 = 2a2c (d) a2 + b2 + c2 = 1

6. If  ,,  are the zeroes of
p(x) = x3 – 6x2 + 11x – 6 then the value of

)( 222   is:
(a) 14 (b) 36
(c) 22 (d) none of these

7. ABC is a triangle in which D is the midpoint of
BC and E is the midpoint of AD. Which of the
following statements is/are correct?
1.  The area of triangle ABC is equal to four

times the area of triangle BED.
2.   The area of triangle ADC is twice the area

of triangle BED.
Select the correct answer using the code given
below.
(a) Only 1 (b) Only 2
(c) Both 1 and 2 (d) Neither 1 nor 2

1. ;fn ,d lekUrj Js.kh ds n inksa dk ;ksx 3n2 + 5n
gks rFkk Tm = 164, rc%
(a) m = 26 (b) m = 27
(c) m = 28 (d) buesa ls dksbZ ugha

2. Js.kh 54, 51, 48 .... esa inksa dh la[;k D;k gksxh] ;fn
mldk ;ksx 513 gS\
(a) 18, 19 (b) 16, 22
(c) 25, 36 (d) buesa ls dksbZ ugha

3. 616 lnL;ksa okyh ,d lSU; VqdM+h dks 32 lnL;ksa
okys ,d vkehZ cS.M ds ihNs ijsM esa y;c) gksdj
ekpZ djuk gSA bu nksuksa lewgksa dks ,d leku la[;k
okyh iafDr esa dnerky djuk gSA iafDr;ksa dh
vf/kdre la[;k Kkr djsa ftlesa os dnerky dj lds\
(a) 16 (b) 12
(c) 8 (d) 4

4. ;fn   ,  ,d f}?kkr cgqin x2 – 4x – 12 ds 'kwU;d
gks rks 33   dk eku gksxk%
(a) 480 (b) –480
(c) 202 (d) 408

5. ;fn ax2 + bx + c = 0 ds ewyksa dk ;ksx+] muds
O;qRØeksa ds oxksZa ds ;ksx ds cjkcj gS] rks fuEufyf[kr
lEcU/kksa esa ls dkSu&lk ,d lgh gS\
(a) ab2 + bc2 = 2a2c (b) ac2 + bc2 = 2b2a
(c) ab2 + bc2 = 2a2c (d) a2 + b2 + c2 = 1

6. ;fn  ,,  ,d f=?kkr cgqin
p(x) = x3 – 6x2 + 11x – 6 ds 'kwU;d gks rks

)( 222   dk eku gksxk\
(a) 14 (b) 36
(c) 22 (d) buesa ls dksbZ ugha

7. ABC ,d f=Hkqt gS] ftlesa D, BC dk e/;&fcUnq gS
vkSj E,  AD dk e/;&fcUnq gSA fuEufyf[kr dFkuksa
esa ls dkSu&lk@ls dFku lgh gS@gSa\
1. f=Hkqt ABC dk {ks=Qy] f=Hkqt BED ds {ks=Qy

dk pkj xquk gSA
2. f=Hkqt ADC dk {ks=Qy] f=Hkqt BED ds  {ks=Qy

dk nks xquk gSA
uhps fn;s x;s dwV dk ç;ksx dj lgh mRrj pqfu,A
(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1 vkSj u gh 2
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8. In the given figure,
ACB ~ APQ  . If BC = 8 cm, PQ = 4 cm, BA

= 6.5 cm, AP = 2.8 cm, then:

              

B

C

A

P

Q

(a) AC = 5.6 cm, AQ = 3.25 cm
(b) AC = 6.5 cm, AQ = 2.56 cm
(c) AC = 6.5 cm, AQ = 3.25 cm
(d) none of these

9. In the given figure, M is the mid point of the side
CD of the parallelogram ABCD. What is ON :
OB?

A B

D
M

N

C

O

(a) 3 : 2 (b) 2 : 1
(c) 3 : 1 (d) 5 : 2

10. ABC is a triangle right angled at C as shown in
the figure below. Which one of the following is
correct?

A

B Q C

K P

(a) AQ2 + AB2 = BP2 + PQ2

(b) AQ2 + PQ2 = AB2 + BP2

(c) AQ2 + BP2 = AB2 + PQ2

(d) AQ2 + AP2 = BK2 + KQ2

8. fn;s x;s fp= esa] ACB ~ APQ  A ;fn BC = 8
lseh] PQ = 4 lseh] BA  = 6.5 lseh] AP = 2.8
lseh gS rks%

               

B

C

A

P

Q

(a) AC = 5.6 lseh, AQ = 3.25 lseh
(b) AC = 6.5 lseh, AQ = 2.56 lseh
(c) AC = 6.5 lseh, AQ = 3.25 lseh
(d) buesa ls dksbZ ugha

9. fn;s x;s fp= esa lekUrj prqHkqZt ABCD dh Hkqtk
CD dk e/; fcUnq M gSA ON : OB D;k gS\

A B

D
M

N

C

O

(a) 3 : 2 (b) 2 : 1
(c) 3 : 1 (d) 5 : 2

10.  ABC ,d f=Hkqt gS] ftlesa C ledks.k gS] tSlk fd
uhps fp= esa n'kkZ;k x;k gSA fuEufyf[kr esa ls
dkSu&lk ,d lgh gS\

A

B Q C

K P

(a) AQ2 + AB2 = BP2 + PQ2

(b) AQ2 + PQ2 = AB2 + BP2

(c) AQ2 + BP2 = AB2 + PQ2

(d) AQ2 + AP2 = BK2 + KQ2
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11. If an angle   is divided into two parts A and B
such that A – B = x and tanA : tan B = 2 : 1, then
what is sin x equal to?

(a) sin3 (b) 
3

sin2 

(c) 3
sin

(d) sin2

12. If  
x4
1xsec   then sec tan ?   

(a) 2x (b) 4x
(c) 3x (d) None of these

13. A cone is cut parallel to the base at the middle
point of its height. The ratio of volume of two
parts is:
(a) 1 : 7 (b) 1 : 8
(c) 1 : 4 (d) 1 : 1

14. The difference of squares of two numbers is 180.
The square of the smaller numbers is 8 times the
larger numbers then the two numbers are:
(a) 12, 10 (b) 12, 18
(c) 16, 9 (d) None of these

15. From the top of a 7 m high building the angle of
elevation of the top of a cable tower is 60o and
the angle of depression of its foot is 45o. The
height of the tower is:

(a) m
13

7
 (b) m)13(7 

(c) m7)33(  (d) none of these

16. A card is drawn at random from a well shuffled
pack of 52 cards. The Probability that the card
drawn is neither a red card nor a queen, is:

(a) 13
7

(b) 13
6

(c) 13
5

(d) 13
4

17. The circumcentre of circle passing through the
vertices of triangle (6, –6), (3, –7) and (3, 3) is:
(a) (3, –2) (b) (2, 3)
(c) (3, 2) (d) none of these

11. ;fn dksbZ dks.k   nks Hkkxksa A  rFkk B esa bl çdkj
foHkkftr fd;k tkrk gS fd A – B = x vkSj tanA :
tan B = 2 : 1, rks sin x fdlds cjkcj gS\

(a) sin3 (b) 3
sin2 

(c) 3
sin

(d) sin2

12. ;fn 
x4
1xsec   rc sec tan ?   

(a) 2x (b) 4x
(c) 3x (d) buesa ls dksbZ ugha

13. ,d 'kadq dks mlds vk/kkj ds lekukUrj mldh dqy
Å¡pkbZ ds vk/ks fcUnq ij dkVk tkrk gSA mlds nksuksa
Hkkxksa ds vk;ru dk vuqikr gksxk%
(a) 1 : 7 (b) 1 : 8
(c) 1 : 4 (d) 1 : 1

14. nks la[;kvksa ds oxksZa dk vUrj 180 gSA NksVh la[;k
dk oxZ cM+h la[;k ds oxZ dk 8 xquk gS] rks og nks
la[;k,¡ gSa%
(a) 12, 10 (b) 12, 18
(c) 16, 9 (d) buesa ls dksbZ ugha

15. ,d 7 ehVj Å¡ph bZekjr ds 'kh"kZ ls ,d dscy
VkWoj ds 'kh"kZ dk mUu;u dks.k 60o rFkk mlds
ikn dk voueu dks.k 45o gS] VkWoj dh Å¡pkbZ
D;k gksxh\

(a) 
7

3 1 eh (b) 7( 3 1) eh

(c) (3 3 )7 eh (d) buesa ls dksbZ ugha

16. 52 rk'k ds iRrksa ds <sj ftUgsa iw.kZ :i ls QsaVk x;k
gks] esa ls ,d iRrk vkSpd :i ls fudkyk tkrk gSA
bl ckr dh çkf;drk D;k gksxh fd fudkyk x;k
iRrk u rks yky iRrk gks vkSj u gh jkuh gks\

(a) 13
7

(b) 13
6

(c) 13
5

(d) 13
4

17. ,d oR̀Rk dk ifjdsUnz tks ,d f=Hkqt ds 'kh"kZ dsUnzksa
(6, –6), (3, –7), (3, 3) ls gksdj xqtjrk gS] dk eku gS%
(a) (3, –2) (b) (2, 3)
(c) (3, 2) (d) buesa ls dksbZ ugha
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18. If a quadrilateral has an inscribed circle, then
the sum of a pair of opposite sides equals:
(a) Sum of the other pair of opposite sides
(b) Sum of two adjacent sides
(c) Double the sum of diagonals
(d) It is impossible condition

19.         

E

B
O

Q
AY X

In the figure given above, YAX is a tangent to the
circle with centre O. If o70BAX   and

o40BAQ  , then what is ABQ  equal to?
(a) 20o

(b) 30o

(c) 35o

(d) 40o

20. The area of sector of a circle whose radius is 14
cm and angle of sector is 45o, is:
(a) 11 cm2 (b) 66 cm2

(c) 162 cm2 (d) 77 cm2

21. The value of

tan7o. tan23o. tan60o. tan67o. tan83o + o

o

36tan
54cot

sin20o. sec70o – 2 is:
(a) 3 (b) 0
(c) 3 (d) 1

22. A drinking glass of height 24 cm is in the shape
of frustum of a cone and radius of its bottom and
top circular ends are 2 cm and 9 cm respectively.
If the capacity of the glass taken as m cm3, then
the value of m is:
(a) 1628
(b) 1132
(c) 824
(d) 428

18. ;fn ,d prqHkqZt ds Hkhrj ,d oR̀r mRdhf.kZr gS rc
,d foijhr Hkqtkvksa ds tksM+ksa dh yEckbZ dk ;ksx
cjkcj gS%
(a) 'ks"k ;qfXer Hkqtkvksa ds ;ksx ds cjkcj gksxk
(b) nks fudVorhZ Hkqtkvksa ds ;ksx ds cjkcj gksxk
(c) fod.kksZa ds ;ksx dk nksxquk gksxk
(d) ;g ,d vlaHkkfor fLFkfr gS

19.           

E

B
O

Q
AY X

mi;qZDr fp= esa YAX oR̀r] ftldk dsUnz O gS]  ij
,d Li'k Zj s[kk g SA ;fn o70BAX   vkSj

o40BAQ   gS rks ABQ fdlds cjkcj gS\
(a) 20o

(b) 30o

(c) 35o

(d) 40o

20. ,d òRr ds oR̀r[k.M dk {ks=Qy D;k gksxk] ;fn
mldh f=T;k 14 lseh rFkk òRr[k.M dk dks.k 45o gS%
(a) 11 lseh2 (b) 66 lseh2

(c) 162 lseh2 (d) 77 lseh2

21. tan7o. tan23o. tan60o. tan67o. tan83o + o

o

36tan
54cot

sin20o. sec70o – 2 dk eku gS%

(a) 3 (b) 0

(c) 3 (d) 1

22. 24 lseh Å¡pkbZ okys is; fxykl dk vkdkj ,d 'kadq
ds fNUud ds :i esa gS rFkk mlds ry rFkk Åijh
oR̀rkdkj fljksa dh f=T;k,¡ Øe'k% 2 lseh ,oa 9 lseh
gSA ;fn fxykl dk vk;ru m  lseh3   gks rks] m dk
eku gksxk%
(a) 1628
(b) 1132
(c) 824
(d) 428
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23. In the adjoining figure, O is the centre of the
circle. Chord AB = 10 cm and BC = 8 cm. Length
of Tangent KC is equal to:

             

K

A B C
O

(a) 144 cm (b) 18 cm
(c) 12 cm (d) 10 cm

24. ABCDA is a con-cyclic quadrilateral of a circle
ABCD with radius r and centre at O. If AB is the
diameter and CD is parallel and half of AB and
if the circle completes one rotation about the
centre O, then the locus of the middle point of
CD is a circle of radius:

(a) 2
r3

(b) 3
r2

(c) 
3

r32
(d) 

2
r3

25. A cube of   cm edge is melted and moulded in
cones of radius and height equal to 1 cm. The
number of cones is:

(a) 2 (b) 23
(c)  (d) 4

23. fn;s x;s fp= esa] òRr dk dsUnz O gSA thok AB = 10
lseh vkSj BC = 8 lseh] rks Li'kZ js[kk KC cjkcj gS%

              

K

A B C
O

(a) 144 lseh (b) 18 lseh
(c) 12 lseh (d) 10 lseh

24. r f=T;k vkSj O ij dsUnz okys ,d oR̀r ABCD dk
,d ,dòRrh; prqHkqZt ABCDA gSA ;gk¡ AB O;kl gS
vkSj CD blds lekUrj vkSj AB dk vk/kk gSA ;fn
oR̀r dsUnz O ds pkjksa vksj ,d ?kw.kZu iwjk djrk gS rks
CD ds e/; fcUnq dk fcUnqiFk] fdruh f=T;k okyk
,d oR̀r gS\

(a) 2
r3

(b) 3
r2

(c) 
3

r32
(d) 

2
r3

25.   lseh yEckbZ ds fljksa okys ?ku dks fi?kyk dj
'kadqvksa esa #ikUrfjr dj fn;k tkrk gS] ftudh
f=T;k rFkk Å¡pkbZ nksuksa 1 lseh gS rks 'kadqvksa dh dqy
la[;k gksxh%
(a) 2 (b) 23
(c)  (d) 4
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SCIENCE
26. Two wires connected in parallel have net

resistance 2 . When one wire is removed
resistance becomes 3 . Resistance of removed
wire is:
(a) 2 (b) 4
(c) 6 (d) 8

27. An electric bulb rated as 250 volt 100 watt is
used at 200 volt supply. Power of bulb reduced
to:
(a) 52 watt (b) 32 watt
(c) 64 watt (d) 2 watt

28. Source of huge amount of energy in stars is:
(a) Nuclear fusion
(b) Nuclear fission
(c) Chain reaction
(d) Burning of fossil fuels

29. An electron is going due east in a magnetic field,
which is vertically downward. In which direction
the electron will deflect:
(a) North (b) South
(c) East (d) West

30. Consider the following statements:
Statement (I): Magnetic unipole is not possible
Statement (II): Magnetic field lines are closed
curve.
(a) Both the Statements are individually true and

Statement II is the correct explanation of
Statement I.

(b) Both the Statements are individually true and
Statement II is the not correct explanation of
Statement I.

(c) Statement I  is true but Statement II is false.
(d) Statement I is false but Statement II is true.

31. A mirror makes real image of same size. The
mirror is:
(a) Convex mirror (b) Plane mirror
(c) Concave mirror (d) None of these

32. A man uses a lens of power –2D. His near and
far points are:
(a) 25 cm and 50 cm
(b) 50 cm and 25 cm
(c) 25 cm and Infinite
(d) 50 cm and Infinite

26. lekUrj Js.kh esa tqM+s nks rkjksa dk dqy çfrjks/k 2
gSA tc ,d rkj dks gVk fy;k tkrk gS rks çfrjks/k
3  gks tkrk gSA vyx fd;s x;s rkj dk çfrjks/k

gS%
(a) 2 (b) 4
(c) 6 (d) 8

27. ,d fo|qr cYc dh jsfVax 250 oksYV rFkk 100 okV
dh gS ftls 200 oksYV dh vkiwfrZ ij ç;ksx fd;k
tkrk gSA cYc dh 'kfDr ?kV dj fdruh jg tk,xh\
(a) 52 okV (b) 32 okV
(c) 64 okV (d) 2 okV

28. rkjksa dh fo'kky ÅtkZ dk L=ksr gS%
(a) ukHkdh; lay;u
(b) ukHkdh; fo?kVu
(c) pØh; vfHkfØ;k
(d) thok'e bZ/ku dk ngu

29- ,d bysDVªku ,d pqEcdh; {ks= tks fd Å/okZ/kj uhps
dh vksj gS fd iwoZ fn'kk esa fn"V dh vksj xfreku gS]
bysDVªku fdl fn'kk esa fopfyr gksxk\
(a) mŸkj (b) nf{k.k
(c) iwjc (d) if'pe

30. fuEu dFkuksa ij fopkj dhft,%

dFku (I):  ,d /kzqoh; pqEcd laHko ugha gSA

dFku (II): pqEcdh; {ks= dh js[kk,¡ can oØ cukrh
gSA

(a) nksuksa dFku vyx&vyx lR; gSa vkSj dFku II,
dFku I dk lgh Li"Vhdj.k gSA

(b) nksuksa dFku vyx&vyx lR; gSa vkSj dFku II,
dFku I dk lgh Li"Vhdj.k ugh a gSA

(c) dFku I lR; gS] fdUrq dFku II vlR; gSA
(d) dFku I vlR; gS] fdUrq dFku II lR; gSA

31. ,d niZ.k oLrq ds cjkcj vkdkj dk okLrfod
çfrfcEc cukrk gSA ;g niZ.k gS%
(a) mRry niZ.k (b) lery niZ.k
(c) vory niZ.k (d) buesa ls dksbZ ugha

32. ,d O;fDr –2D  {kerk okys ysUl dk ç;ksx djrk
gSA mldk fudV rFkk nwj fcUnq gS%
(a) 25 lseh rFkk 50 lseh
(b) 50 lseh rFkk 25 lseh
(c) 25 lseh rFkk vlhfer
(d) 50 lseh rFkk vlhfer
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33. A convex lens is dipped in water. Its focal length
will:
(a) increase
(b) decrease
(c) will remain same
(d) its nature will change

34. A wire is stretched so that its radius becomes
half. Its new resistance will be:
(a) half (b) double
(c) one fourth (d) four times

35. A bar magnet is suspended freely. Its north pole
will indicate:
(a) East (b) North
(c) South (d) West

36. What is the number of neutrons in 7 g of 6C
14?

(a) 238 6.02 10 
(b) 237 6.02 10 

(c) 236 6.02 10 

(d) 234 6.02 10 

37. Which one of the following does not define a
covalent bond?
(a) a shared pair of electrons
(b) an overlap of half-filled atoms or hybrid

orbitals
(c) increased electron density in the region

between atoms of two non-metals
(d) electrostatic attraction between species in

which one or more electrons have been
transferred

38. Match List-I with List-II and select the correct
answer using the codes given below the Lists :

List-I List-II
(Discoveries) (Name of Scientist)
A. Proton 1. Rutherford
B. Electron 2. Chadwick
C. Neutron 3. Thomson
D. Nucleus 4. Goldstein

Codes:
A B C D A B C D

(a) 4 3 2 1 (b) 3 2 1 4
(c) 2 1 4 3 (d) 1 4 3 2

33. mŸky ysUl dks ty esa Mqcks;k tkrk gSA bldh
Qksdl nwjh%
(a) c<+sxh
(b) ?kVsxh
(c) vifjofrZr jgsxh
(d) mldh çÑfr esa ifjorZu gksxk

34. ,d rkj dks bl çdkj ls [khapk tkrk gS fd mldh
f=T;k vk/kh gks tkrh gSA rkj dk u;k çfrjks/k gksxk%
(a) vk/kk (b) nqxuk
(c) ,d pkSFkkbZ (d) pkj xquk

35. pqEcd dks LorU= :i ls yVdkus ij mldk mRrjh
/kzqo fdl vksj bafxr djsxk\
(a) iwjc (b) mRrj
(c) nf{k.k (d) if'pe

36. 7 xzke 6C
14 esa U;wVªkuksa dh dqy la[;k fdruh gS\

(a) 238 6.02 10 
(b) 237 6.02 10 
(c) 236 6.02 10 
(d) 234 6.02 10 

37. buesa ls dkSu lgla;ksth cU/k dh O;k[;k ugha djrk
gS\
(a) bysDVªkuksa dk ,d lk>k ;qXe
(b) vk/ks Hkjs gq, ijek.kqvksa ;k ladfyr d{kdksa dk

vfrO;kiu
(c) {ks= esa nks v/kkrqvksa ds ijek.kqvksa ds e/; izpqj

bysDVªku ?kuRo dk c<+uk
(d) fofHkUu iztkfr;ksa ds e/; fo|qr LFkSfrd vkd"kZ.k

ftlesa ,d ;k nks bysDVªkuksa dk LFkkukarj.k fd;k
x;k gSA

38. lwph-I dks lwph-II ls lqesfyr djsa rFkk uhps fn,
x, dwVksa dk ç;ksx dj lgh mRrj dk p;u djsaA

lwph-I  lwph-II
¼[kk st½ ¼oSKkfud dk uke½

A.  çksVkWu 1. jnjQksMZ
B.  bysDVªkWu 2. pSMfod
C.  U;wVªkWu 3. FkkWelu
D.  U;wfDy;l 4. xksYMLVhu

dwV%
A B C D A B C D

(a) 4 3 2 1 (b) 3 2 1 4
(c) 2 1 4 3 (d) 1 4 3 2
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39. On passing a current of 1 ampere for 10 minutes,
the mass of silver (atomic mass 108 amu)
deposited on a fork from electrolysis of silver
nitrate solution would be :
(a) 670 g (b) 67 g
(c) 6.7 g (d) 0.67 g

40. The charge (in Coulomb) on Cu2 + ions is :
(a) 193.2 10 (b) 122.3 10
(c) 190.23 10 (d) 190.32 10

41. The nucleus of a singly ionized carbon atom
contains:
(a) 6 protons and 6 neutrons
(b) 5 protons and 6 neutrons
(c) 6 protons, 6 neutrons and 6 electrons
(d) 12 protons, 6 neutrons and 6 electrons

42. What are the types of bonds present  in
CuSO4.5H2O?
(a) Electrovalent and Covalent
(b) Electrovalent and Coordinate
(c) Electovalent, Covalent, Coordinate and

Hydrogen
(d) Covalent and Coordinate Covalent

43. Which of the following is a chemical change?
1. Magnetisation of iron
2. Condensation of liquid
3. Burning of fuel
4. Rusting of iron
Select the correct answer using the codes given
below:

Codes:
(a) 1 and 2 (b) 2 and 3
(c) 3 and 4 (d) 1 and 4

44. Which one of the following is the correct
sequence in increasing order of molecular
weights of the hydrocarbons?
(a) Methane, Ethane, Propane and Butane
(b) Propane, Butane, Ethane and Methane
(c) Butane, Ethane, Propane and Methane
(d) Butane, Propane, Ethane and Methane

39. fo|qr vi?kVu ds nkSjku 1 ,fEi;j dh /kkjk dks 10
feuV rd flYoj ukbVªsV ds ?kksy esa çokfgr djus
ij ,d dk¡Vs&pEep ij ,d= pkanh ds nzO;eku
¼ijek.kq Hkkj 108 ,-,e-;w-½ dh dqy ek=k gksxh%
(a) 670 xzke (b) 67 xzke
(c) 6.7 xzke (d) 0.67 xzke

40. Cu2 + vk;uksa ij vkos'k ¼dwykEc esa½ gS%
(a) 193.2 10 (b) 122.3 10
(c) 190.23 10 (d) 190.32 10

41. ,dy vk;fur dkcZu ijek.kq ds ukfHkd esa gksrs gS%
(a) 6 izksVku rFkk 6 U;wVªku
(b) 5 izksVku rFkk 6 U;wVªku
(c) 6 izksVku] 6 U;wVªku rFkk 6 bysDVªku
(d) 12 izksVku] 6 U;wVªku rFkk 6 bysDVªku

42. CuSO4.5H2O esa fdrus izdkj ds cU/k gksaxs\
(a) fo|qr la;ksth rFkk lgla;ksth
(b) fo|qr la;ksth rFkk milgla;ksth
(c) fo|qr la;ksth] lgla;ksth] milgla;ksth rFkk

gkbMªkstu cU/k
(d) lgla;ksth rFkk milgla;ksth cU/k

43. buesa ls dkSu ,d jklk;fud ifjorZu gS\
1. yksgs dk pqEcdh;dj.k
2. nzo dk la?kuu
3. bZa/ku dk ngu
4. yksgs esa tax yxuk
uhps fn, x, dwVksa dh lgk;rk ls lgh mRrj dk
p;u djsa%

dwV%
(a) 1 rFkk 2 (b) 2 rFkk 3
(c) 3 rFkk 4 (d) 1 rFkk 4

44. buesa ls dkSu gkbMªksdkcZu ds c<+rs vk.kfod Hkkj dk
lgh Øe n'kkZrk gS\

(a) ehFksu] bZFksu] izksisu rFkk C;wVsu

(b) izksisu] C;wVsu] bZFksu rFkk ehFksu

(c) C;wVsu] bZFksu] izksisu rFkk esFksu

(d) C;wVsu] izksisu] bZFksu rFkk esFksu
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45. Soaps cannot be used in acidic condition because

they lose their cleansing effect due to formation
of insoluble:
(a) Esters (b) Alcohols
(c) Fatty acids (d) Hydrocarbons

46. Consider the following function of xylem
1. Conduction of water.
2. Conduction of minerals.
3. Mechanical support.
Which of the function(s) given above is/are
correct?
(a) Only 1 (b) 1, 2 and 3
(c) 2 and 3 (d) Only 3

47. Match List-I  with List-II and select the correct
answer using the codes given below the lists:

 List-I List-II
(Disease)     (Types of Disease)

A. Haemophilia 1. Deficiency disease
B. Diabetes 2. Genetic disease
C. Rickets 3. Hormonal disorder
D. Ringworm 4. Fungal infection

Codes:
A B C D A B C D

(a) 1 4 2 3 (b) 3 1 4 2
(c) 2 3 1 4 (d) 4 2 3 1

48. Termites can't digest the cellulose contained in
wood. Which of the following organism assists
termites in the cellulose digestion?
(a) Bacteria (b) Protozoa
(c) Virus (d) Fungi

49. Which one among the following hormones
stimulates the plant cells to grow in a manner
such that the plant appears to be bent towards
light?
(a) Cytokinin (b) Auxin
(c) Gibberellin (d) Abscissic acid

50. The DPT vaccine, a mixture of three vaccines, is
used to  immunize against three medical
conditions/ diseases. These medical conditions/
diseases are:
(a) Diphtheria, Pneumonia, Tuberculosis
(b) Diarrhoea, Pertussis, Tetanus
(c) Diarrheea, Pertussis, Tuberculosis
(d) Diphtheria, Pertussis, Tetanus

45. lkcqu dk iz;ksx vEyh; voLFkk esa ugha fd;k tk
ldrk D;ksafd fd os buesa ls fdlds v?kqyu'khy
mRikn ds cuus ds dkj.k viuh lQkbZ {kerk [kks nsrs gSaA
(a) bZLVj (b) ,Ydksgy
(c) olk vEy (d) gkbMªksdkcZu

46. tkbye dh fuEufyf[kr dk;ksZa ij fopkj djsa%

1. ty dk laogu

2. [kfut inkFkksZa dk lapkj.k

3. ;kaf=d leFkZu

mijksDr es ls dkSu ls dk;Z lgh gS@gSa\
(a) dsoy 1 (b) 1, 2 vkSj 3
(c) 2 vkSj 3 (d) dsoy 3

47. lwph-I dks lwph-II ds lkFk lqesfyr djsa rFkk uhps
fn, x, dwVksa dk ç;ksx dj lgh mRrj dk p;u djsaA

lwph-I lwph-II
¼jk sx½ ¼jksx ds çdkj½

A. gheksfQfy;k 1. ghUuku jksx
B. e/kqesg 2. vkuqokaf'kd jksx
C. fjdsV 3. gkjeksuy fodkl
D. nkn 4. dodh; laØe.k

dwV%
A B C D A B C D

(a) 1 4 2 3 (b) 3 1 4 2
(c) 2 3 1 4 (d) 4 2 3 1

48. nhed ydM+h esa ekStwn lsyqykst dks ipk ugha ldrsA
buesa ls dkSu lk tho nhed dks lsyqykst ipkus esa
lgk;d gS\
(a) thok.kq (b) çksVkstksvk
(c) dhVk.kq (d) dod

49. buesa ls dkSu lk gkjeksu ikni dksf'kdkvksa dks bl
rjg fodkl gsrq mRçsfjr djrk gS fd ikS/kk lwjt dh
jks'kuh dh vksj >qd tkrk gS\

(a) lkbVksdk;fuu (b) vkWfDlu

(c) fxcjyhu (d) ,clhfld vEy

50. Mh-ih-Vh- dk Vhdk] tks rhu vyx&vyx Vhdksa dk
feJ.k gS] dk iz;ksx rhu jksxksa ds izfr izfrjks/kd {kerk
fodflr djus gsrq fd;k tkrk gsA ;g esfMdy jksx gSa%
(a) fMiFkhfj;k] fueksfu;k] risfnd
(b) nLr] dkyh [kk¡lh] fVVul
(c) nLr] dkyh [kk¡lh] risfnd
(d) fMiFkhfj;k] dkyh [kk¡lh] fVVul
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PART - II
GENERAL  AWARENESS

51. What was the estimated population of Mohanjo-
daro?
(a) 15,000-30,000 (b) 35,000-41,000
(c) 50,000-70,000 (d) 70,000-90,000

52. From which of the following veda, the proverb
‘Asto ma sad gamaya’ derived?
(a) Rigveda (b) Yajurveda
(c) Samveda (d) Atharvaveda

53. Who was the Governor General during the time
of 1857 Revolt?
(a) Lord Dalhousie (b) Lord Bentinck
(c) Lord Canning (d) Lord Lytton

54. On which year 'Quit India Movement' was
started?
(a) 1940 (b) 1942
(c) 1944 (d) 1946

55. Which of the following is not a fundamental duty
of the citizen of India?
(a) To develop scientific temper, humanism and

the spirit of inquiry and reform.
(b) To safeguard public property and to abjure

violence
(c) To uphold and protect the sovereignty, unity

and integrity of India.
(d) To practice family planing and to control

population

56. Which of the following are not correctly
matched?
     List-I    List-II
    (Title)  (National Symbol)
1. National Tree - Indian Banyan
2. National Aquatic Animal - River Dolphin
3. National Heritage Animal - Indian Elephant
4. National Reptile - Indian Python
5. National Song - Jana Gana Mana
Choose the correct answer using the code give
below?
(a) Only 1 and 2 (b) Only 2 and 4
(c) Only 4 and 5 (d) Only 3 and 5

51. eksgutksnM+ksa dh vuqekfur tula[;k D;k Fkh\
(a) 15,000-30,000 (b) 35,000-41,000
(c) 50,000-70,000 (d) 70,000-90,000

52. buesa ls fdl osn ls] ykdksfDr ^vlrks ek ln~
xe;* dks fy;k x;k gS\
(a) _Xosn (b) ;tqZosn
(c) lkeosn (d) vFkoZosn

53. 1857 fonzksg ds le; Hkkjr dk xoZuj tujy dkSu
Fkk\
(a) ykWMZ MygkSth (b) ykWMZ cSafVad
(c) ykWMZ dSfuax (d) ykWMZ fyVu

54. Hkkjr NksM+ks vkUnksyu fdl o"kZ çkjEHk gqvk\
(a) 1940 (b) 1942
(c) 1944 (d) 1946

55. buesa ls dkSu Hkkjr ds ukxfjdksa gsrq fu/kkZfjr ewy
dRrZO;ksa esa 'kkfey ugha gS\
(a) oSKkfud LoHkko] ekuookn rFkk ftKklk ,oa

lq/kkj dh Hkkouk dk fodkl
(b) lkoZtfud lEifRr dh j{kk djuk ,oa fgalk dk

R;kx djuk
(c) Hkkjr dh lEçHkqrk] ,drk rFkk v[k.Mrk dh j{kk

djuk rFkk mls v{kq..k j[kuk
(d) ifjokj fu;kstu dks viukuk rFkk tula[;k dks

fu;fU=r djukA

56. buesa ls dkSu ls lgh lqesfyr ugha gS\

  lwph&I lwph&II
  ¼mikf/k½ ¼jk"Vªh; çrhd½

1. jk"Vªh; ò{k+ - Hkkjrh; cjxn

2. jk"Vªh; ty i'kq - unh MkWfYQu
3. jk"Vªh; /kjksgj tUrq - Hkkjrh; gkFkh
4. jk"Vªh; ljhlì - Hkkjrh; vtxj
5. jk"Vªh; xhr - tu x.k eu
uhps fn;s x;s dwVksa dh lgk;rk ls lgh mRrj dk
p;u djsa%
(a) dsoy 1 rFkk 2 (b) dsoy 2 rFkk 4
(c) dsoy 4 rFkk 5 (d) dsoy 3 rFkk 5
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57. The ‘President’s Rule’ in a state means that the
state is ruled by:
(a) the President directly
(b) a caretaker government
(c) the chief minister nominated by the President
(d) Governor of the State

58. A present group of nations known as G-8 started
first as G-7. Which one among the following
nation was not the part of this group initially?
(a) Canada (b) Italy
(c) Japan (d) Russia

59. Consider the following figure related with a
volcano. The point ‘X’ marked is known as:

               

(a) Cone (b) Crater
(c) Caldera (d) Vent

60. Near which scenic glacier is the Amarnath Cave
situated?
(a) Kolahoi (b) Siachen
(c) Nunkun (d) Zaskar

61. The boundary of which Indian state coincides
with Nepal, Bhutan and China?
(a) Arunachal Pradesh
(b) Meghalaya
(c) West Bengal
(d) Sikkim

62. A person wants to visit the national parks of
Ranthambhor, Gir and Bandipur located in three
different states of India. To which one of the
following states he need not go in this
connection?
(a) Rajasthan
(b) Karnataka
(c) Kerala
(d) Gujarat

57. jkT; esa jk"Vªifr 'kklu dk vFkZ gS fd jkT; ij:
(a) lh/ks jk"Vªifr dk 'kklu gksxk
(b) ,d ds;j Vsdj ljdkj dk 'kklu gksxk
(c) jk"Vªifr }kjk euksuhr eq[;eU=h
(d) jkT; ds xouZj dk 'kklu gksxk

58. orZeku jk"Vªksa dk lewg th-8 izkjEHk esa th-7 FkkA
buesa ls dkSu lk ns'k izkjEHk esa bl lewg dk fgLlk
ugha Fkk\
(a) dukMk (b) bVyh
(c) tkiku (d) :l

59. Tokykeq[kh ls lEcU/k fuEufyf[kr fp= ij fopkj
djsaA fcUnq ‘X’ dks dgrs gSa%

             

(a) dksu (b) ØsVj
(c) dkWyMsjk (d) osUV

60. fdl euksje fgeun ds fudV vejukFk dh xqQk
fLFkr gS\
(a) dksykgksbZ (b) fl;kfpu
(c) uqudqu (d) tSLdj

61. fdl Hkkjrh; jkT; dh lhek usiky] HkwVku rFkk phu
ls feyrh gS%
(a) v:.kkpy çns'k
(b) es|ky;
(c) if'pe caxky
(d) flfDde

62. ,d O;fDr jk"Vªh; m|kuksa j.kFkEHkkSj] fxj vkSj canhiqj
dk Hkze.k djuk pkgrk gS tks rhu fofHkUu jkT;ksa esa
fLFkr gSA buesa ls fdl jkT; esa bl lEcU/k esa mls
tkus dh vko';drk ugha gS\
(a) jktLFkku
(b) dukZVd
(c) dsjy

(d) xqtjkr
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63. Match List-I with List-II and select the correct
answer using the codes given below the list:
      List-I         List-II
     (State) (No. of Districts)
A. Bihar 1. 75
B. Jharkhand 2. 24
C. Chhattisgarh 3. 51
D. Uttar Pradesh 4. 27
E. Madhya Pradesh 5. 38

A B C D E A B C D E
(a) 5 2 3 4 1 (b) 3 2 1 4 5
(c) 5 2 4 1 3 (d) 4 5 3 1 2

64. The tributary of river Ganga marked X in the
given map is which one of the following river?

       

(a) Gandak (b) Kosi
(c) Ghaghara (d) Gomati

65. Chinkara is considered as the integral part of
which one among the following communities?
(a) Apatansi (b) Lepchas
(c) Bishnois (d) Bhutias

66. Which one of the following is not a rating agency
of economy?
(a) CRISIL (b) CARE
(c) SMERA (d) HIPOC

67. Which one of the following bands is used in the
transmission of signals in the Direct-to-Home
(DTH) television broadcasting?
(a) X-band (b) Q-band
(c) W-band (d) Ku-band

63. lwph-I dks lwph-II ds lkFk lqesfyr djsa rFkk uhps
fn, x, dwVksa dk ç;ksx dj lgh mRrj dk p;u djsaA

   lwph&I  lwph&II
   ¼jkT;½   ¼ftyksa dh la[;k½
A.  fcgkj 1. 75
B.  >kj[k.M 2. 24
C.  NRrhlx<+ 3. 51
D.  e/; çns'k 4. 27
E.  mRrj çns'k 5. 38

A B C D E A B C D E
(a) 5 2 3 4 1 (b) 3 2 1 4 5
(c) 5 2 4 1 3 (d) 4 5 3 1 2

64. çnf'kZr ekufp= esa bafxr X] xaxk unh dh lgk;d
unh gSA og unh buesa ls dkSu gS\

                

(a) x.Md (b) dkslh
(c) ?kk?kjk (d) xkserh

65. fpadkjk dks buesa ls fdl leqnk; dk vfHkUu vax
ekuk tkrk gS\
(a) vikrkalh (b) ysipk
(c) fc'uksbZ (d) HkwfV;k

66. buesa ls dkSu vFkZO;oLFkk dh jsfVax ,tsUlh ugha gS\

(a) CRISIL (b) CARE
(c) SMERA (d) HIPOC

67. buesa ls fdl cS.M dk ç;ksx Vsfyfotu czkMdkfLVax
¼Mh-Vh-,p-½ esa flXuyksa ds çs"k.k gsrq fd;k tkrk gS\
(a) X-cS.M (b) Q-cS.M
(c) W-cS.M (d) Ku-cS.M
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68. Match List-I with List-II and select the correct
answer using the codes given below the list:

      List-I     List-II
(Mobile Phone Brand) (Country)
A. Vivo 1. India
B. Xolo 2. China
C. Nokia 3. Canada
D. Blackberry 4. Finland

Codes:
A B C D A B C D

(a) 4 3 1 2 (b) 1 2 4 3
(c) 2 1 3 4 (d) 2 1 4 3

69. Which one of following is correct in respect of
Indian-Football Team’s performance in the
Olympics Games?
(a) India has never participated in the Olympic

Football Tournament
(b) India played only in the First Round
(c) India entered only up to the Quarter Finals
(d) India entered the Semi Finals

70. Which one of the following is the correct
chronological order of the major lawn tennis
tournaments?
(a)  US Open-Wimbledon-Australian Open-

French Open
(b) French Open-Wimbledon-US Open-

Australian Open
(c)  Australian Open-French Open-Wimbledon

US Open
(d)  Australian Open-US Open-Wimbledon-

French Open

71. Which software is used for scientific
calculations?
(a) BASIC (b) FORTRAN
(c) COBOL (d) PASCAL

72. Full form of URL is:
(a) Uniform Resource Locator
(b) Uniform Resource Link
(c) Uniform Registered Link
(d) Unified Resource Link

68. lwph-I dks lwph-II ds lkFk lqesfyr djsa rFkk uhps
fn, x, dwVksa dk ç;ksx dj lgh mRrj dk p;u djsaA

lwph&I  lwph&II
¼eksckby Qksu czk.M½    ¼ns'k½
A. fooks 1. Hkkjr
B. tksyks 2. phu
C. uksfd;k 3. dukMk
D. CySdcsjh 4. fQuyS.M

dwV%
A B C D  A B C D

(a) 4 3 1 2 (b) 1 2 4 3
(c) 2 1 3 4 (d) 2 1 4 3

69. Hkkjrh; QqVcky Vhe dk vksyfEid [ksyksa esa çn'kZu
ds lEcU/k esa buesa ls dkSu lk dFku lR; gS\

(a) Hkkjr esa vksyfEid QqVckWy VwukZes.V esa dHkh Hkkx
ugha fy;kA

(b) Hkkjr dsoy çFke jkmaM esa [ksyk FkkA

(c) Hkkjr dsoy DokVZj Qkbuy rds igq¡p ik;kA

(d) Hkkjr us lsehQkbuy esa ços'k fd;kA

70. çeq[k ykWu Vsful VwukZesaV dk lgh dkykuqØe D;k
gS\
(a) vesfjdh vksiu&foEcyMu&vkWLVªsfy;kbZ vksiu&

Ýsap vksiu
(b) Ýs ap vksiu&foEcyMu&vesfjdh vksiu&

vkLVªsfy;kbZ vksiu
(c) vkLVªsfy;kbZ vksiu&Ýsap vksiu&foEcyMu&

vesfjdh vksiu
(d) vkLVªsfy;kbZ vksiu&vesfjdh vksiu&foEcyMu&

Ýsap vksiu

71. dkSu lk lkW¶Vos;j oSKkfud x.kuk gsrq ç;ksx esa
yk;k tkrk gS\
(a) BASIC (b) FORTRAN
(c) COBOL (d) PASCAL

72. ;w-vkj-,y- dk iw.kZ :i gS%
(a) ;wfuQkeZ fjlkslZ yksdsVj
(b) ;wfuQkeZ fjlkslZ fyad
(c) ;wfuQkeZ jftLVMZ fyad
(d) ;wfuQkbM fjlkslZ fyad
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73. Match List-I with List-II and select the correct
answer using the code given below the lists:
          List-I      List-II
          (Day)      (Date)
A. Indian Army Day 1. 15 January
B. Indian Navy Day 2. 1 February
C. Indian Air Force Day 3. 8 October
D. Indian Coast Guard Day 4. 4 December

Codes:
A B C D A B C D

(a) 3 2 1 4 (b) 1 4 3 2
(c) 1 2 3 4 (d) 2 3 1 4

74. Who is the present Chief of the Naval Staff  of
India?
(a) Admiral R.K. Dhowan
(b) Admiral D.K. Joshi
(c) Admiral Suresh Mehta
(d) None of these

75. Which of the following is not a peacetime
gallantry award?
(a) Ashok Chakra
(b) Kirti Chakra
(c) Vir Chakra
(d) Shaurya Chakra

73. lwph-I dks lwph-II ds lkFk lqesfyr djsa rFkk uhps
fn, x, dwVksa dk ç;ksx dj lgh mRrj dk p;u djsaA
      lwph&I  lwph&II
      ¼fnol½  ¼fnukad½
A. Hkkjrh; Fky lsuk fnol 1.  15 tuojh
B. Hkkjrh; ukS lsuk fnol 2.  1 Qjojh
C. Hkkjrh; ok;q lsuk fnol 3.  8 vDVwcj
D. Hkkjrh; rVj{kd fnol 4.  4 fnlEcj

dwV%
A B C D A B C D

(a) 3 2 1 4 (b) 1 4 3 2
(c) 1 2 3 4 (d) 2 3 1 4

74. Hkkjr ds orZeku ukSlsuk/;{k dkSu gSa\

(a) ,Mfejy vkj-ds- /kou
(b) ,Mfejy Mh-ds- tks'kh
(c) ,Mfejy lqjs'k esgrk

(d) buesa ls dksbZ ugha

75. buesa ls dkSu ,d 'kkafrdkyhu ohjrk iqjLdkj ugh a
gS\

(a) v'kksd pØ

(b) dhfrZ pØ

(c) ohj pØ
(d) 'kkS;Z pØ
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ENGLISH
SPOTTING ERRORS

Directions: Each item in this section has a sentence which is divided into parts labelled (a), (b) and (c). Read
each sentence to find out whether there is any error in any part and indicate your answer in the Answer Sheet
against the corresponding letter i.e., (a), (b) or (c). If you find no error, your response should be indicated as (d).

76. My friend always prefers
(a)

  
)b(

storiesshort  reading  
)c(

novels. s voluminouthan  No error
(d)

77.
)a(

 werechildren The   
)b(

balla   withplaying  and run around when the accident occuured.
(c)

 No error
(d)

78.
)a(

 wasscontestant  theofNeither  
)b(

condition physicalproper  in   
)c(

best work his do to . No error
(d)

79. We are fortunate in 
(a)

being able to visit Puri because
(b)

 there is many who cannot go there
(c)

No error
(d)

80.   Javed had not forgotten
(a)

 the incident and could
(b)

clear remember all the details.
(c)

No error
(d)

COMPREHENSION
Directions: In this section, is one short passage. After the passage, you will find  new questions each based
on what is stated or implied in the passage. First read the passage and then answer the questions following
the passage.

PASSAGE
At that time everyone believed that the earth was at the centre of the universe. But Copernicus realised

that this picture did not agree with astronomical observations. He worked out that the Sun was at the centre with
all the planets moving round it. He said that our earth takes a year to travel round the Sun, and also revolves once
every 24 hours. Copernicus believed that the planets moved round the Sun in perfect circles. Fifty years later,
Kepler used the extremely accurate measurements of Tycho Brahe to show that they do not.
81. Copernicus' belief that the Sun was at the centre of the universe was based on:

(a) common sense
(b) his astronomical observations
(c) mathematical calculations
(d) observations of other astronomers.

82. The belief that the earth was at the centre of the universe was held at that time by:
(a) everybody (b) Copernicus
(c) the uneducated persons (d) None of these

83. Copernicus' belief that the planets moved in perfect circles:
(a) was self-evidently wrong.
(b) was perfectly correct.
(c) was based on astronomical observations.
(d) was proved wrong on further astronomical observations.
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84. Copernicus claimed that:
(a) all the planets move round the Sun.
(b) only the earth moves round the Sun.
(c) the Sun moves round the earth.
(d) the earth revolves but does not move round the Sun.

SYNONYMS
Directions: Each item in this section consists of a sentence with a CAPITAL word, followed by four words.
Select the word that is most similar in meaning to the capital word.

85. It was Pranil's PRACTICE to get up early and go for a walk before breakfast.
(a) convention (b) habit (c) fashion (d) rule

86. Sita asked Laxmi not to MEDDLE in her affairs.
(a) interfere (b) cross (c) impose (d) intercede

87. We must ERADICATE corruption.
(a) control (b) condemn (c) uproot (d) minimise

88. You must give sufficient water and manure for seeds to GERMINATE.
(a) produce (b) sprout (c) breed (d) terminate

ANTONYMS
Directions: Each item in this section consists of a sentence with a CAPITAL word, followed by four words.
Select the word that is most nearly opposite in meaning to the capital word.
89. This is not ideology but PRAGMATIC language teaching.

(a) impossible (b) imperfect (c) improper (d) impractical
90. There are reports that many poor people ABANDON female children.

(a) help (b) keep (c) reject (d) like
91. Machine civilisation has made human life ARTIFICIAL.

(a) authentic (b) true (c) natural (d) genuine
92. The Minister is OPTIMISTIC about the new project just launched.

(a) cynical (b) pessimistic (c) dubious (d) stoical

FILL IN THE BLANKS
Directions: Each of the following sentences in this section has a blank space and four words or group of
words given after the sentence. Select whichever word or group of words you consider most appropriate for
the blank space and indicate your response on the Answer Sheet accordingly.

93. The city was plunged ________ darkness due to a sudden power failure.
(a)  at (b) through (c) to (d) into

94. Human beings wish to ________ the unknown.
(a) triumph (b) travel (c) encircle (d) conquer

95. He died ________ martyr in the cause of independence.
(a) though (b) a (c) for (d) since
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96. India needs sincere leaders, not people of ________ integrity.
(a) doubting (b) doubtful (c) doubtless (d) double

ORDERING OF WORDS IN A SENTENCE
Directions: Each of the following items in this section consists of a sentence the parts of which have been
jumbled. These parts have been labelled P, Q, R and S. Given below each sentence are four sequences namely
(a), (b), (c) and (d). You are required to re-arrange the jumbled parts of the sentence and select the correct
sequence.

97. She was born 
P
a.m. 10 at   

Q
India in   

R
1978 year  thein   

S
August 18th  theon .

The correct sequence should be:

(a) PQRS (b) QPSR (c) RSQP (d) SRPQ

98. I believe that Virat's century
P Q

remember always will
R

lovers cricket
S

Tuesday on .

The correct sequence should be:

(a) SRQP (b) RQPS (c) PSRQ (d) PRQS

99. Milton said that 
P
persons those

Q
damaged be would

R
obeynot  do who

S
commands sGod' .

The correct sequence should be:
(a) QPRS (b) PQRS (c) PRSQ (d) RSPQ

100. The little girl 
P

leave mother to  thefor
Q

friendher   tosaid
R

own their on children little

S
right quitenot   wasit  and go to work.

The correct sequence should be:
(a) SQRP (b) PRQS (c) RPSQ (d) QSPR
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SPACE FOR ROUGH WORK
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le; % nks ?kaVs                                                                        iw.kkZad % 400

vuqns”k
1- ijh{k.k izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo”; dj ysa fd blesa dksbZ fcuk Nik] QVk ;k NwVk gqvk ì’B vFkok

iz”ukad vkfn u gksA ;fn ,slk gS] rks bls lgh ijh{k.k iqfLrdk ls cny yhft,A
2- —i;k /;ku j[ksa fd OMR mŸkj&i=d esa] mfpr LFkku ij] jksy uEcj /;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj dwVc) djus

dh ftEesnkjh mEehnokj dh gSA fdlh Hkh izdkj dh pwd@folaxfr
dh fLFkfr esa mŸkj&i=d fujLr dj fn;k tk;sxkA

3- bl ijh{k.k iqfLrdk ij lkFk esa fn, x, dks’Bd esa vkidks viuk vuqØekad
fy[kuk gSA ijh{k.k iqfLrdk ij vkSj dqN u fy[ksaA

4- bl ijh{k.k iqfLrdk esa dqy 100 iz”ukad ¼iz”u½ fn, x, gSa] Hkkx I & xf.kr] foKku vkSj Hkkx II - lkekU; lpsrrk] v¡xzsthA izR;sd
iz”ukad esa pkj  izR;qŸkj ¼mŸkj½ fn, x, gSaA buesa ls ,d izR;qŸkj dks pqu ysa] ftls vki mŸkj&i=d ij vafdr djuk pkgrs gSaA ;fn vkidks
,slk yxs fd ,d ls vf/kd izR;qŸkj lgh gS] rks ml izR;qŸkj dks vafdr djsa tks vkidks loksZŸke yxsA izR;sd iz”ukad ds fy, dsoy ,d gh
izR;qŸkj pquuk gSA

5- vkidks vius lHkh izR;qRrj vyx ls fn, x, mRrj&i=d ij gh vafdr djus gSaA mRrj&i=d esa fn, x, funsZ”k nsf[k,A
6- çR;sd iz”uka”k pkj ¼4½ vad dk gSA
7- blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz”uka”kksa ds izR;qRrj mRrj&i=d ij vafdr djuk “kq: djsa] vkidks izos”k izek.k&i= ds lkFk

izsf’kr vuqns”kksa ds vuqlkj dqN fooj.k mRrj&i=d esa nsus gSaA
8- vki vius lHkh izR;qRrjksa dks mRrj&i=d esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mRrj&i=d v/kh{kd dks lkSai nsaA vkidks vius

lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA
9- dPps dke ds fy, i=d ijh{k.k iqfLrdk ds vUr esa layXu gSaA

10- xyr mRrjksa ds fy, n.M%
oLrqfu’B iz”u&i=ksa esa mEehnokj }kjk fn, x, xyr mŸkjksa ds fy, n.M fn;k tk,xkA

(i) izR;sd iz”u ds fy, pkj oSdfYir mRrj gSaA mEehnokj }kjk izR;sd iz”u ds fy, fn, x, ,d xyr mRrj ds fy, iz”u gsrq fu;r fd,
x, vadksa dk ,d ¼1½ vad n.M ds :i esa dkVk tk,xkA

(ii) ;fn dksbZ mEehnokj ,d ls vf/kd mRrj nsrk gS] rks bls xyr mŸkj ekuk tk,xk] ;|fi fn, x, mŸkjksa esa ls ,d mŸkj lgh gksrk
gS] fQj Hkh ml iz”u ds fy, mi;qZDrkuqlkj gh mlh rjg dk n.M fn;k tk,xkA

(iii) ;fn mEehnokj }kjk dksbZ iz”u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mŸkj ugha fn;k tkrk gS] rks ml&iz”u ds fy, dksbZ n.M
ugha fn;k tk,xkA

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

/;ku nsa % vuqns”kksa dk fgUnh :ikUrj bl iqfLrdk ds fiNys i’̀B ij Nik gSA
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